EARAROBEEIERT — 2 N— IBISH —F

2019568270 (k) SEIEMHS5H

m C3=Z ¥o%4m%t ‘ %] & ‘ [eErsm]  — | & (B) 14000 B
[A&4£] 1 7% :300,000" ~ 23%&:84,000H”  33&:42,000” 437 :30,000H . 5 7&:24,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= EOE :30. -1-1- . — Rz ()
ilglo| 77ra—n o4 = 1(3_0)3 1-1-1-1 | 38.5 1 :1:572) S
L:A—-K7N74% BEIFFa1-F1— B fE—
P P S 4 K FEE 1:34. —5-5-4 | 40. = 47 B (FkR)
5 NP UEE PPE L ot (g:iwg) 5-5-5 0.8 5 (_50) Eila
R:vavr>hr7 B:FvlFyda =l Ese
. N RN : -0-0— - BRYER (EH)
3l8l10| 77 ¥/ NvEY o 54.0 1('33/‘2')] rerz |48 ¢ :S:)) gll.l—%‘%
LHIWZRLTA A BN EILE— TV SRS
— . FEREAL : —7-6- — BlEFIRE (EH)
4 NEFPE 4t 10 Sl 1.(344).8 7-7-6-5 | 41.4 3 (4_515) i
R:IT7IN—-K B ¥ - v—7 RB -
NI € 7 | MEREH 1:35.1 2-3-3-3 |42.8| — 7 456 | /NEE (FERR)
5178 TFN>TY - 56.0 (1 3/4) (16) |\HE
R:F1508) B:I7714 X2F)— HE f5—
V= #10 | Af—E 1:35.2 8-8-8-7 |41.1| — 6 490 | W& (FEk)
61111 729/ 77— 56.0 (1/2) (-q) | HEHEES
RNTNALTzA— B:T7789>U1)— AHH BE
: 7 | AEE 1:35.3 6-6-7-6 |41.8| — 10 | 480 |BEFIEXR (EMA)
d : IS AP U A (56 Gy | ) A - LN MEE
A bk—L BiEIU5T b {hEHIS
sp= s 4 | AKX 1:36.9 9-9-10-9 |42.5| — 2 468 | LEHZER (EMA)
8l7|7|P7Y72—-7 56.0 (10) (+6) |MEESE
LNnN—=vI74 B:O4vinNiLs FRBE%S
sso gy PIAED :37. -9-9- . - THEZER (EE)
ol 5| HTIILIAT o7 T (11317/41) 10-9-9-10 | 42.8 8 (5_012) P
LIVNATA—h— B:RXE2—-—%27 [ij=skaed
o3 = B8 | RAERELN 1:37.3 4-4-4-8 | 44.5| — 9 409 | FMECE (k)
1) > PAREAE £252.0 (3/4) 4y | B) FA=nN=Tx—y=7
R:T7IRATZ4 b~ B:IF> # HBE
® 1—F—@EBIERL
13—7+— 9,(8,10),2,4,3,6,1,7,5
23—7+— |9,10,8,2,4,3,6,1,(5,7)
30—4— 9,10,8,2,4,6,3,1,5,7
43—+ — 9,10,8,4,6,3,1,2,7,5
[ /N
B 9 100 714K 4-9 200M B 4-8 560 JEE 4-9-10 1,150
B B 9 1004 9-10 210 B = 4-9 480M JEE 9-4-10 2,310/
4 180H4 4-10 830M B H 9-4 520M
10 180M

ABICOVWTRDTEEERROODE. TR LIV,




